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משוואות  טריגונומטריות
· פתירת  משוואות  בעזרת  הבאה לתבנית משוואה ריבועית.
· [image: image12.jpg]


לפתירת  המשוואות  נעזר  בשתי  זהויות:  
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משוואות
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נסתמך  על  הזהות:  
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נציב  לפי  הזהות  במשוואה:  
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.   נציב  t = ______  
והמשוואה  שנקבל:  
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      .  ____          
 (     ____ - ___ = ____ + ____
2___ + __ - ___ = ___       (   
t1 = _______                                                                              t2 = _______ 
______ = ½                                 cosx = ____                                           
x2 = ______ +  _____                   x1 = _____ + ______                             
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נסתמך  על  הזהות:  
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נציב  לפי  הזהות  במשוואה:  3____ + ___ + ______ = 5      נציב  t = ______  
__ = ___ + ___ + ___           (    = _____ ____ - ____ + ____
2___ + __ - ___ = ___       (   
t1 = _______                                                                              t2 = _______ 
______ = ____                            ______ = -4                                           
x2 = ______ +  _____                   x1 = _____ + ______                             
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נסתמך  על  הזהות:  
[image: image11.wmf]2
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נציב  לפי  הזהות  במשוואה:  1 + _____ = ___ + ___      נציב  t = ______  
והמשוואה  שנקבל:  __ = ___ (    = _____ ___ - ___

t1 = _______                                                                               t2 = _______ 
______ = ____                             ______ = ____                                      
2x = ____ + ______                      2x = ____ + _____                               
x2 = ______ +  _____                   x1 = _____ + ______                             

· תשובות:  1. 1800 + 3600k,   (600 + 3600k   2.   104.360 + 1800k,  450 + 1800k.
3.  67.50 + 900k,  22.50 + 900k. 
עבודה  נעימה
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